Subtraction — Crossing 10 (2)

1 Complete the number sentences and calculations.

a

) R

First there were 14 counters.
Then 5 were taken away.

Now there are 9 left.

14 | - =

First there were 17 counters.
Then were taken away.

Now there are left.

17 | - =

First there were 13 counters.

. ‘ ‘ Then ___ were taken away.
‘ ‘ ' Now there are left.

‘ ‘ ‘ ‘ ‘ First there were counters.
COBBB e oo
‘ ‘ Now there are left.
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Complete the part-whole models and number sentences to solve each problem.

There are 15 counters.

8 are blue.
How many are red?
OQ o) Y
OQOOO 15 | - _
There are18 counters.
9 are blue.
@) How many are red?
O OOQ
OO é) 18 | - —

There are 11 counters.
7 are red.

How many are blue?

There are counters.
9 are red.

How many are blue?

© Primary Stars Education



Subtraction — Crossing 10 (2) * % 77

1 Cross off the amount taken away to complete the number sentences and calculations.

. ‘ ‘ ‘ ‘ First there were 14 counters.
‘ ‘ ‘ ' Then were taken away.
‘ ‘ ‘ Now there are 9 left.
14 | - =
b
‘ First there were counters.
‘ Then were taken away.
' Now there are left.
C
. ‘ . ‘ ‘ First there were counters.
. ‘ . ‘ ‘ Then 6 were taken away.
‘ ‘ ‘ Now there are left.
d
‘ ‘ ‘ ‘ ‘ First there were counters.
. ‘ ‘ ‘ . Then 9 were taken away.
‘ ‘ Now there are left.
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Subtraction — Crossing 10 (2) * % 77

1 Complete the part-whole models and number sentences to solve each problem.

a
There are 15 counters.
8 are blue.
How many are red?
090
0©C0 i _
0O
b
There are 18 counters.
9 are blue.
@) How many are red?
O OOQ
O~ 0 _ -
oJe)

C
There are counters.
are blue.
QOO are red.
09 O _
O — —1
d
There are counters.
are blue.
d.
0O are re
0 -0
09 O _
O — —
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Draw counters on the ten frames and cross off the amount taken away to complete
the number sentences and calculations.

a

‘ ‘ ‘ First there were counters.
‘ ‘ ' Then _ were taken away.
‘ ‘ Now there are left.
‘ ‘ First there were counters.
‘ ‘ Then __ were taken away.
‘ ' Now there are left.
%

First there were 13 counters.

Then 6 were taken away.

Now there are

left.

First there were 12 counters.

Then 9 were taken away.

Now there are

left.

© Primary Stars Education
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Complete the part-whole models and number sentences to solve each problem.

a
There are 15 counters.
are blue.
are red.
090
0©C0 i _
0O
b
There are 18 counters.
are blue.
are red.
@)
O OOQ
O~ 0 _ -
oJe)

There are 11 counters.

7 are blue.

are red.

There are 16 counters.

are blue.

9 are red.
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Answers

To avoid wasting paper & ink,
please do not print this page.
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Subtraction — Crossing 10 (2)

1 Complete the number sentences and calculations.

a

) R

First there were 14 counters.
Then 5 were taken away.

Now there are 9 left.

14 |- 5 |=| 9

First there were 17 counters.
Then 9 were taken away.

Now there are __ 8 left.

17 |- 9 |=| 8

First there were 13 counters.
Then 6 were taken away.

Now there are ___ 7 left.

13 1= 6 |=| 7

First there were 12 counters.

Then q were taken away.

Now there are __ 3 left.

12 1= 9 |=| 3
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Complete the part-whole models and number sentences to solve each problem.

There are 15 counters.

8 are blue.
How many are red? 7
5% ot 2
OO OO 15 -] 8 |=| 7
There are18 counters.
9 are blue.
0O How many are red? q
O OOQ
OO é) 18 |- 9 |=| 9

There are 11 counters.

4 are red.

How many are blue? /

M {=1 4 |=| 7

There are 16 counters.

Q are red.

How many are blue? #
16 |- 9 |=| 7
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Subtraction — Crossing 10 (2) * % 77

1 Cross off the amount taken away to complete the number sentences and calculations.

i ‘ ‘ ‘ ‘ First there were 14 counters.
‘ ‘ ‘ ' Then __ 5 were taken away.
Now there are 9 left.
2000 f
14 | -1 5 |=| A9
b
‘ First there were __ 17 counters.
‘ Then 9 were taken away.
' Now there are 8 left.
17 |- 9 |=| 8
C First th 13
. ‘ . ‘ ‘ irst there were counters.
. ‘ ‘ ‘ ‘ Then 6 were taken away.
‘ ‘ ‘ Now there are ___ 7 left.
13 1= 6 |=| 7
d
‘ ‘ ‘ ‘ ‘ First there were __ 12 counters.
‘ ‘ ‘ ‘ ‘ Then 9 were taken away.
Now there are 3 left.
o _3
12 |1-1 9 |=| 3
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Subtraction — Crossing 10 (2) * % 77

1 Complete the part-whole models and number sentences to solve each problem.

a
There are 15 counters.
8 are blue.
How many are red? /7
695 yoerit T
OO OO 15 || 8 |=| 7
b
There are 18 counters.
9 are blue.
0O How many are red? __ 9
O OOQ
OO CS) 18 -1 9 |=| 9

C
There are 11 counters.
/ are blue.
OOO 4 are red.
O
O o O 1 |- 7 |=]| &
d
There are 16 counters.
/ are blue.
O q are red.
0 -0
@) % O 16 |=| 7 |=| 9
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Subtraction — Crossing 10 (2) * & %

1 Draw counters on the ten frames and cross off the amount taken away to complete
the number sentences and calculations.

a

‘ ‘ ‘ First there were 14 counters.
‘ ‘ ' Then __ 5 were taken away.
Now there are left.
[ JF _ 9
14 (-1 5 |=| 9
b
‘ First there were __ 17 counters.
‘ Then 9 were taken away.
' Now there are 8 left.
17 (=1 9 |=| 8
C First th 13
. ‘ . ‘ ‘ irst there were counters.
. ‘ ‘ ‘ ‘ Then 6 were taken away.
‘ ‘ ‘ Now there are __ 7 left.
13 (= 6 |=| 7
. First th 12
‘ ‘ ‘ ‘ ‘ irst there were counters.
‘ ‘ ‘ ‘ ‘ Then 9 were taken away.
‘ ‘ Now there are 3 left.
12 1= 9 |=| 3
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Subtraction — Crossing 10 (2)

1
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Complete the part-whole models and number sentences to solve each problem.

a
There are 15 counters.
8 are blue.
/ are red.
O%O
OO OO 15 || 8 |=| 7
b
There are 18 counters.
9 are blue.
9 d
@) are red.
O OOQ
OO CS) 18 =] 9 |=| q

There are 11 counters.

/ are blue.

4 are red.

M= 7 |=| 4

There are 16 counters.

/ are blue.

9 are red.

16 |- 7 |=| 9
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